For each of the following explain how the likelihood of successful cooperation in pricing is impacted.

1.  The number of sellers in an industry.

2.  The usual variability in demand in an industry.

3.  The elasticity of demand in an industry.

4.  The homogeneity of the product sold.

5.  The amount of capital required to entry an industry.


5a.  The extent to which the capital is specific to the
industry.

6.  The similarity of the cost of the industry sellers.

7.  The number of buyers in the industry.

8.  The ability to “price discriminate.”

9.  An industry in which a formal bidding system is used.   

10.  An industry in which pricing is public.

11.  An industry in which price changes are announced ahead of implementation.

